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(2x+-1———2)dx+(2y+-1——~i)dy= 0
y x Xy
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2. BTk [#4:154]
y"+33y" ~18y = 9 sinh3x

3. 8 Laplace Transformation 7%k RATF 7 F A o HEE * ReLJA S unit step
function ( BRFs46 S ) AERET ) [34:204]

y+y=f(@ , »0)=0
0, 0<r«l
5, t>1

where f(t)= {

4, BmFE f(x)=x(z"-x") » O<x<m °
(1) #] A % 48 & 3 (Half-range expansions)ik » 3K f(x) 894% 30 3 i 3% & 3 (Fourier sine
series) » [#+ 4 1 7 %)
Q)B4 B — B g(x)=x(x-1)(x-2) > 0<x<l - HAFDHMHER > HR () ¥
18 31 3 F 75 4 $(Fourier sine series) » [ 34~ : 8 2]

5. BRAEAT 9 85 % 8 F 2 X (Wave equation) : [3F4 20 4]
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o o | or
FHRAEH w0, v, =0, u(x, y, )=0, u(x, 0, )=0, u(x, 7, )=0, u(x, 7, )=0,

MR u(x, ¥, 0)=(x—2)(y—7), %f -0
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A=%(xly2—mxzyl)-i-“i(xzy:‘—x3y2)+.“+%(xn—1yn“xnyn-l)+%(xnyl—.xlyn) [45:5%]
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